A Al ## 2 =

k2 E 3 i3 = %
e F|EBEEIT B & B BBERESFTBRIREER
% HIRENERRI— LN\ RBITEEERERR
5 Pt | P & R T 0 A HT B 1T # FR|$SM5F4A38 o HFI643A31A T
E X R 2|EOMES AR - F | ERRE AL
BEF SF 5% 3H28H 9BF00% SR BEERHITIEOSE 1B 2ENE
ATHES RIBEE IR VAN MR
FE (4% ¥3,925,000| 54 LfR$k (a)
IR HI R TS LR (b)

A #l #® ES

No. AEXITEM F1E #2[E #3MH L]
1| EBEZE RHEEmR ¥3,800,000
2 | BB G ¥2,375,135 &AL
3 | RBEAII— () R
4 |(B)FREE ¥2,985,000
5 [ZE40 — R
6 |EEEI— R
1 |(BEAREIV— F&hm

10

1

12

13

14

15

16

17

18

19

20




A A, # 2 %

= E 3 il = %
& B (5EBFEEE B Y i ERERESITHEEREER
2 M OZENERRI—INRBITEEEH RS
5 | BR™ O Z B 1T # F|SFf54F4838 o $H64E3A318 =T
E E X DTOMER AfL- B2 HE|BAFEEALL
=] %054 38288 9B5104> BAT BERDITIZNOSE 1B ZEME
HITHERS RIFEREBA2H0ER I=A ZHILE
T E (A& SUE LRE(a)
XIEHI R M FE S LR (b)

A # & g

AFLE




A Al ## 2 =

k2 E 3 i3 = %
e F|EBEES B & B BBERESFTBRIREER
% MBEAEENMNERRI—ILNA\RBITEEERERR
5 FriF SR EA BT B 1T # mE|SF5E4A38 »o FF6E3AINA T
E X R 2|EOMES AR - F | ERRE AL
BEF SF 54 3H28H 9R§20% SR BEERHITIEOSE 1B 2ENE
ATHES RIBEE IR VAN MR
FE (4% ¥3,481,000| 54 L% $ (a)
IR HI R TS LR (b)

A #l #® ES

No. AEXITEM F1E #2[E #3MH L]
1| EBEZE RHEEmR ¥2,950,000 &AL
PRISES b A7) R
3 | RBEAII— () R
4 |(B)FREE ¥2,980,000
5 [ZE40 — R
6 |EEEI— R
1 |(BEAREIV— F&hm
8
9
10
11
12
13
14
15
16
17
18
19

20




A Al ## 2 =

k2 E 3 i3 = %
e 5B ESS B & B BBERESFTBRIREER
% MEBEBRBDNERRV—ILNA\RETEBEERRT
5 AR B R AL E BT B 1T # mE|SF5E4A38 »o FF6E3AINA T
E X R 2|EOMES AR - F | ERRE AL
BEF SF 54 3H28H 9B§30% SR BEERHITIEOSE 1B 2ENE
ATHES RIBEE IR VAN MR
FE (4% ¥5,635,000| 524 LufREk (a)
IR HI R TS LR (b)

A #l #® ES

No. AEXITEM F1E #2[E #3MH L]
1| EBEZE RHEEmR ¥4,050,000 &AL
PRISES b A7) R
3 | RBEAII— () R
4 |(B)FREE ¥4,800,000
5 [ZE40 — R
6 |EEEI— R
1 |(BEAREIV— F&hm
8
9
10
11
12
13
14
15
16
17
18
19

20




A Al ## 2 =

k2 E 3 i3 = %
e SoEIIEE 1T B & B FBRULREBBILEREILELE
% MAAEECELENREBETEEERER
15 s E™ B 1T # mE|SF5E4A38 »o FF6E3AINA T
E X R 2|EOMES AR - F | ERRE AL
BEF SF 5% 3H28H 9R§40% SR BEERHITIEOSE 1B 2ENE
ATHES RIBEE IR VAN MR
FE (4% ¥570,000| 54 L% %k (a)
IR HI R TS LR (b)

A #l #® ES

No. AEXITEM F1E #2[E #3MH L]
1| EBEZE RHEEmR ¥376,000 EHL
PRISES b A7) R
3 | RBEAII— () R
4 |(B)FREE ¥1,205,000
5 [ZE40 — R
6 |EEEI— R
1 |(BEAREIV— F&hm

10

1

12

13

14

15

16

17

18

19

20




A Al ## 2 =

k2 E 3 i3 = %
e B|EBEELS B & B BBERESFTBRIREER
% MAEARNMNERRAI—ILNA\RBITEEERERR
5 ArF SR A RAT B 1T # FR|$SM5F4A38 o HFI643A31A T
E X R 2|EOMES AR - F | ERRE AL
BEF SF 54 3H28H 9§50 SR BEERHITIEOSE 1B 2ENE
ATHES RIBEE IR A=A MR
FE (4% ¥7,257,000| 5% L% $ (a)
IR HI R TS LR (b)

A #l #® ES

No. AEXITEM F1E #2[E %3 L]
1B ESRKE RLEER R
2 |SF8kGR R
3 | RBEAII— () R
4 |(B) FRESL ¥5,705,000 EHL
5 [ZE40 — ¥8,000,000
6 |EEEI— R
1 |(BEAREIV— F&hm

10

1

12

13

14

15

16

17

18

19

20




A Al ## 2 =

k2 E 3 i3 = %
e 5B ET B & B BBERESFTBRIREER
% T BIFNERRV—ILNA\RETEBEERRT
5 [P B R A RHET B 1T # FR|$SM5F4A38 o HFI643A31A T
E X R 2|EOMES AR - F | ERRE AL
BEF SF 54F 38288 10850043 SR BEERHITIEOSE 1B 2ENE
ATHES RIBEE IR A=A MR
FE (4% ¥1,762,000| 5% L% $ (a)
IR HI R TS LR (b)

A #l #® ES

No. AEXITEM F1E #2[E %3 L]
1B ESRKE RLEER R
2 |SF8kGR R
3 | RBEAII— () R
4 |(B) FRESL ¥1,100,000 EHL
5 [ZE40 — ¥2,000,000
6 |EEEI— R
1 |(BEAREIV— F&hm
8
9
10
11
12
13
14
15
16
17
18
19
20




A Al ## 2 =

k2 E 3 i3 = %
e E(EmES B & B F|TRAFEIMEEST
% | IRIEXFRITEBREBERR
5 At SR RIERT B 1T # mE|SF5E4A38 »o FF6E3AINA T
E X R 2|EOMES AR - F | ERRE AL
BEF SF 54 38288 1085204 SR BEERHITIEOSE 1B 2ENE
ATHES RIBEE IR VAN MR
FE (4% ¥667,000| 54 LRk (a)
IR HI R TS LR (b)

A #l #® ES

No. AEXITEM F1E #2[E #3MH L]
1@\ Yoo)— S ¥594,000
2 |[BREREVMEE(F) BERXE ¥750,000
3 |(HBRIITAL ¥441,000 &AL
4
5
6
7
8
9
10
11
12
13
14
15
16
17
18
19
20




A Al ## 2 =

k2 E 3 i3 = %
e EEit15 B & B FB|TRAFEBILERIMR
% W IABEETEBRERER
5 | SR AL R BRI X 274785 B 1T # mE|SF5E4A38 »o FF6E3AINA T
E X R 2|EOMES AR - F | ERRE AL
BEF SF 54F 38288 1085304 SR BEERHITIEOSE 1B 2ENE
ATHES RIBEE IR VAN MR
FE (4% ¥495,000| 54 LR (a)
IR HI R TS LR (b)

A #l #® ES

No. AEXITEM F1E #2[E #3MH L]
1@\ Yoo)— S ¥456,000 &L
2 |[BREREVMEE(F) BERXE ¥675,000
3 (AT AH ¥620,000
4
5
6
7
8
9
10
11
12
13
14
15
16
17
18
19
20




A Al ## 2 =

k2 i3 = %
e F|5BEHIRE 1S B & B BBERESEFBREEFER
% HAARRERE U4 BREBER
5 | S ETmEARETZA B 1T # M|SHM5EFE4A38 Ho FFI8EIASIA T
E X R 2|EOMES AR - F | ERRE AL
BEF SF 54F 38288 1085405 SR BEERHITIEOSE 1B 2ENE
ATHES RIBEE IR VAN MR
FE (4% ¥1,934,000| 5% Lk (a)
IR HI R TS LR (b)

A #l &

No. AEXITEM F1E #2[E #3MH L]
1@\ Yoo)— S ¥1,326,000 &L
2 |KEEMEEA) BBEXE ¥1,800,000
3 (AT AH ¥1,760,000
4
5
6
7
8
9
10
11
12
13
14
15
16
17
18
19
20




A #L & S &

= E 3 1 = %
3 B|EEME2S #H L B ERBHEMENER
£ MBAARTEEEREBFER
5 | SR A KA B 17 # [E|$H55E4A38 Ao $H6FEIA3IRA F£T
T X R 2TOMmES AR -BHAEIEEREAL
=53 &0 54 38288 10R$50% T BAERHITEORE 1/ ZEMNE
MATHERS TS AR E BT S2H9ER TA-JN 2R
F EflitE ¥2,369,000 5% LR H (a)
RIS HIRR{EHE U LIRE(b)

A

#l

No. BEXITEM

F1H

—_

BE)YD)—iEE

¥2,014,800

AL

2 |KEREMERGE) BABREXE

¥2,460,000

3 |(ABERIITAL

¥2,700,000

10

1

12

13

14

15

16

17

18

19

20




A Al ## 2 =

k2 E 3 i3 = %
e F|5FHIRE 1S B & B BBERESEFBREEFER
% MBYZALDIR—ILEREBRT
15 ArFA B RERTARETILI B 1T # mE|SF5E4A38 »o FFISEIAIA T
E X R 2|EOMES AR - F | ERRE AL
BEF SF 54 38288 1185004 SR BEERHITIEOSE 1B 2ENE
ATHES RIBEE IR VAN MR
FE (4% ¥2,621,000| 54 LfR 3k (a)
IR HI R TS LR (b)

A #l #® ES

No. AEXITEM F1E #2[E #3MH L]
1@\ Yoo)— S ¥1,503,600 &L
2 |[BREREVMEE(F) BERXE ¥1,800,000
3 (AT AH ¥1,900,000
4
5
6
7
8
9
10
11
12
13
14
15
16
17
18
19
20




A #L & S &

= E 3 1 = %
3 B|HAEE1S #H L B BHWRETHARXIH
£ MABARTEEREBRR
5 | F SR A RETILII B 17 # [E|$H55E4A38 Ao $H6FEIA3IRA F£T
T X R 2TOMmES AR -BHAEIEEREAL
=53 &0 54 38288 118105 T BAERHITEORE 1/ ZEMNE
MATHERS TS AR E BT S2H9ER TA-JN 2R
F EflitE ¥1,682,000| 54 Luf% %k (a)
RIS HIRR{EHE U LIRE(b)

A

#l

No. BEXITEM

F1H

—_

BE)YD)—iEE

¥1,422,000

AL

2 |KEREMERGE) BABREXE

¥1,620,000

3 |(ABERIITAL

¥1,750,000

10

1

12

13

14

15

16

17

18

19

20




A Al ## 2 =

k2 E 3 i3 = %
e 5|2 #H 8 8 FRRKEIRER
% R AR A RURKE A (RT—23V) - Ry bRMUVIREEMER T (O 2 FEH#X)
5 | F SR O 22 E B T # mE|SF5E4A18 o FFISEIAIA T
E X R 2|EOMES AR - F | ERRE AL
BEF SF 54 38288 1185205 SR BEERHITIEOSE 1B 2ENE
ATHES RIBEE IR VAN MR
FE (4% ¥14,640,000|524 L% $ (a)
RIEHIPRIEHE ¥10,980,000| 5% Lf& % (b)

A #l #® ES

No. AEXITEM F1E #2[E #3MH L]
1| (B B ¥11,261,000 &L
2 (B EMME ¥11,610,000
3 |(BE)ATAHNDY— ¥11,760,000
4
5
6
7
8
9
10
11
12
13
14
15
16
17
18
19
20




A Al ## 2 =

k2 E 3 i3 = %
e =1 #H 8 8 FRRKEIRER
% | IREHRUTRE A (RT—2aV) INEEREBZT(BABEFRITX)
5 ArF SR A RAT B T # mE|SF5E4A18 o FFISEIAIA T
E X R 2|EOMES AR - F | ERRE AL
BEF SF 54 38288 1185304 SR BEERHITIEOSE 1B 2ENE
ATHES RIBEE IR VAN MR
FE (4% ¥13,248,000| 54 L ¥ (a)
I PR 4E ¥9,936,000( 524 LufR %k (b)

A #l #® ES

No. AEXITEM F1E #2[E #3MH L]
1| (B B ¥10,181,000 &L
2 (B EMME ¥10,510,000
3 |(BE)ATAHNDY— ¥10,646,000
4
5
6
7
8
9
10
11
12
13
14
15
16
17
18
19
20




5>
i
I

A AL & e *
= x i = =3

& 2 |5ETFKE2E B oY & EBREKERLTKER
4 |RSFI T KBRS IR EWRE T
5 R B R RIRTR1979%F 11 B 1T # R|Sf554H38 S §F6E3A31H £T
T X X HTOMERE AfL- B2 HE|BAFEALL
B BF(45F0 54F 3A288 1185405 5 BEERGHTIEZORE 1 2EMNE
BT # BE|RISEERRNE kv & PNEZ ]2
F = @ & QO
(g 5 i 18 59 b ¥20000

A L 4 e
| B OB X O & W B oA £ 1 & % 2 & % 3 @ " 8
1| (B) Fa B (Blik-EHR) ¥15,000 AL
2 |[RNEEL B (Blik-EHR) ¥25,000
3|(E\E)Y)—oH—ER IR (314R - &) ¥20,000




A Al ## 2 =

k2 E 3 i3 = %
e F|5ETKE1S B & B F|REKERLTKER
% FRRETFKKEREZRT
15 pr|FBRT B 1T # FR|$SM5F4A38 o HFI643A31A T
E X R 2|EOMES AR - F | ERRE AL
BEF SF 54F 38288 1385304 SR BEERHITIEOSE 1B 2ENE
ATHES HAF5 AR E B 224958 VAN MR
FE (4% ¥4,284,000| 55 L% $ (a)
IR HI R TS LR (b)

A #l #® ES

No. AEXITEM F1E #2[E %3 L]
1 [(2#) RIEREREERS ¥3,650,000
2 |BEEIRIBEHRE (K) ¥3,580,000 &L
3 |(M)CRCEGIREMEMRRN HEEEM ¥3,648,480
4 |BR) BT O/ R ¥3,754,000
5 |(#F) RIEB AR SRR ¥3,961,000
6 |(¥R) AFERERF L S— RIGEHEBRFT ¥3,648,000
7| (B BRER ¥3,600,000

10

1

12

13

14

15

16

17

18

19

20




A Al ## 2 =

k2 E 3 i3 = %
e S5 LEEIS B & B F|REKERLTKER
% | EESRTKERREEEXBERT
5 FriFERTA B 1T # FR|SM5F4A38 o SFISHE3IAIA T
E X R 2|EOMES AR - F | ERRE AL
BEF SF 54F 38288 1385405 SR BEERHITIEOSE 1B 2ENE
ATHES RIBEE IR VAN MR
FE (4% ¥20,338,000| 5% LR E (a)
IR HI R TS LR (b)

A #l #® ES

No. AEXITEM F1E #2[E #3MH L]
1| FHRY iR
2 |SoeATI /R (K) ¥20,760,000 ¥20,160,000 AL
3 | HIYFa—RL—rar RBEER ¥22,000,000 R
4 |(BR)RIBAHX ¥30,000,000 R
5 |(¥)OMC R
6 |(F) IR ¥22,200,000 ¥20,700,000
7
8
9
10
11
12
13
14
15
16
17
18
19
20




A AL ] e *
= x i = =3

& S|BEER2 B L & ERERFEERR
4 [ ERBNFIBEA
5 | RBEESETREE BETX B 17 H [E|S#M5E4A38 Hhd SH6EIHASIR £T
E X X HYRFE AfL- B2 HE|BAFEALL
A B |$5F0 54 3H28A 1385509 5 FBAERHITIZOSE 1/ SEME
BT # BREHEMRENE hvd 3 PNET 5}
¥ & O & @
(o B A 3 b ¥250

A #l 4 e
No. 2] = X =S % E Al £ 1 [ £ 2 [H £ 3 [= b e
1| 7OT7 % (k) iR H ¥270
2{(BR) 7470 RIGEZERT 37 3E] #iR
3| EMhIL BN ¥280
4 | KALER (BR) iR ¥253
5 A1 FFERITE R iR H ¥250
6 |(BR)RIFAIH* L2373 ¥260
7B FNEL (KR RIBXIE B ¥247 &AL
8 | (k) OMC L3 3:E] iR
9| (R)RKEEE BREREERM B ¥270
10[FAKIU =TT (%) L2 3:E] iR




A AL ] R
= x i =

& S| HEERT B L & ERERFEERR
4 MEEEEE I —E R FRERIEA
& | RIGEmSRTREA RETX B 17 H [E|S#M5E4A38 Hhd SH6EIHASIR £T
E X X HYRFE AfL- B2 HE|BAFEALL
A B |5#0 54 3H 288 145005 5 FBAERHITIZOSE 1/ SEME
#7 #  B|RIEIERRNE hvd 3 INEZ5E TS
¥ & O & @
(o B A 3 b ¥1.200

A fL 4
No. 5] = X (=S £ pd E Al £ 1 [ £ 2 [ £ & e
1T7OT7 T2 (k) 5 T REHCP-1405 ¥1,100
2|(#R)TAD RIGEZEFT B9 FEBCP-1405 TR
3| EMhIL B 5 FHRERICP-1405 ¥1,000
4 |FEBKALIE (#k) B5 T REBCP-1405 ¥980
5|4 FERTE M) % TRIHCP-1405 ¥960 %,
6 |(BR)RIFAIH* B 5 FHRERICP-1405 ¥1,100
7R FMEI (%) RBXE &5 FEREBCP-1405 ¥1,050
8 | (%R)OMC B 5T REBCP-1405 58
9| KEEE BREREXRM B 5 FRERICP-1405 ¥1,000
10[FAKIU =TT (%) B 5T REBCP-1405 58




A AL ] e *
=) E 3 i3 = %

& S|EEEM B L & ERERFEERR
£ MEAREEEBA
5 | RBEESETREE BETX B 17 #1 F|$#M5E4A838 o §M6E3IA3INH £T
E X X HYRFE AfL-BBHAEIELFEFALL
A B |5F0 54 3H28A 1485105 5 FBAERHITIZOSE 1/ SEME
BT # BREHEMRENE hvd & PNET 5}
¥ & O & @
(o B A 3 b ¥40

A L 4 ES
No. 2] = X =S % E Al £ 1 [ £ 2 [H £ 3 [ b e
1| 7OT7 % (k) HAERES 313 &AL
2{(BR) 7470 RIGEZERT EERES #iR
3| EMhIL HARES ¥38
4 | KALER (BR) HAERES ¥35
5 A1 FFERITE R HAERES ¥33
6 |(BR)RIFAIH* HARES ¥37
7 |IBFME T (B RIBGXIE SHARES ¥38
8 | (k) OMC HAERSS iR
9| (R)RKEEE BREREERM SHARES ¥38
10|BKIO =TT (%) EERES #iR




A AL ] e *
= x i = =3

& S| BEERS B L & ERERFEERR
4 W|EEY—FEA
5 | RBEESETREE BETX B 17 #1 F|$#M5E4A838 o §M6E3IA3INH £T
E X X HYRFE AfL- B2 HE|BAFEALL
A B |5F0 54 3H28A 1485205 5 FBAERHITIZOSE 1/ SEME
BT # BREHEMRENE hvd 3 PNET 5}
¥ & O & @
(o B A 3 b ¥95

A #l 4 e
No. 2] = X =S % E Al £ 1 [ £ 2 [H £ 3 [= b e
1| 7OT7 % (k) HHy—4 ¥44 &AL
2{(BR) 7470 RIGEZERT Hiky—4 #iR
3| EMhIL iy —4 ¥54
4 | KALER (BR) HHy—4 ¥50
5 A1 FFERITE R H—4 ¥48
6 |(BR)RIFAIH* HHY—4 ¥52
7 |IBFME T (B RIBGXIE HHY—4 ¥50
8 | (%R)OMC SFHEY—F iR
9| (R)RKEEE BREREERM HHY—4 ¥53
10[FAKIU =TT (%) HHY—4 ¥45




A AL ] R
=) E 3 i3 =

& S|BEERS B L & ERERFEERR
4 MRBEERE/ —FEA
5 | RBEESETREE BETX B 17 H [E|S#M5E4A38 Hhd SH6EIHASIR £T
E X X HYRFE AfL-BBHAEIELFEFALL
A B |5F0 54 3H28A 1485305 5 FBAERHITIZOSE 1/ SEME
BT # BREHEMRENE hvd 3 PNET 5}
¥ & O & @
(o B A 3 b ¥10

A L &
No. [i5] = X (=S £ pd E Al £ 1 [ £ 2 [ £ & e
1| 7HOT7 T2 REEREE— ¥60 B30
2{(BR) 7470 RIGEZERT REERB—F #iR
3|(¥R) A AIL RELE R —4 ¥66
4 | KALER (BR) REERE—F ¥65
5 A1 FFERITE R REERE—F ¥62
6 |(BR)RIFAIH* REERB—F ¥66
7 |IBFME T (B RIBGXIE REEERB—F ¥63
8 | (%R)OMC REIEREEY—F iR
9| (R)RKEEE BREREERM REEERB—F ¥65
10[FAKIU =TT (%) REIEFREEY—F iR




A AL ] e *
= i = =3

& S5 LKME1E B oY & EBREKERLTKER
& T EERTRKEREA (RE12%)
5 FrFSRERTA B 17 #1 F|$#M5E4A838 o §M6E3IA3INH £T
E X X HYRFE AfL- B2 HE|BAFEALL
A B |5F0 54 3H28R 1485405 5 FBAERHITIZOSE 1/ SEME
BT # BREHEMRENE hvd 3 PNET 5}
¥ & O & @
(o B A 3 b ¥2.550

A #l 4 e
No. [i5] = X (=S £ pd E Al £ 1 [ £ 2 [ £ 3 [ b e
1|77 TE () RE12% ¥2,800
2|{(R)TA47 RBEZERR RE12% #iR
3| EMhIL RE12% ¥2,450 &AL
4 | KALER (BR) RE12% ¥2,800
5 A1 FFERITE R RE12% ¥2,600
6 |(BR)RIFAIH* RE12% ¥3,000
7B FNEL (KR RIBXIE RE12% ¥3,000
8 | (%R)OMC RE12% R
9| KEEE BREREXRM RE12% ¥3,000
10[FAKIU =TT (%) RE12% 58




A L ] e =
=) E 3 i3 = %

% S5 kg2 B oY & EBREKERLTKER
& B ERTHKEREA (PACO—)—)
5 FrFSRERTA B 17 H [E|S#M5E4A38 Hhd SH6EIHASIR £T
T X X HPDRAE AfL-BBHAEIELFEFALL
A B|5F0 54 3H28A 1485509 5 FBAERHITIZOSE 1/ SEME
#7 #  B|RIEIERRNE hvd 3 INEZ5E TS
¥ & O & @
(o B A 3 b ¥58

A L & ES
No. [i5] = X [y £ pd E Al £ 1 [ £ 2 [ £ 3 [ & e
1| 7HOT7 T2 PACR-Y— ¥56
2|{(R)TA47 RBEZERR PACH-1)— iR
3| EMhIL PACO—1)— ¥54
4 | KALER (BR) PACO—1)— ¥58
5 A1 FFERITE R PACO—1)— ¥55
6 |(BR)RIFAIH* PACH-1)— ¥59
7 |HBAEI (%) RBXE PACH-1)- ¥53.2 AL
8 | (#k)OMC PACO-1)— R
9| KEEE BREREXRM PACH-1)- ¥60
10(BAZKTO =75 (#) PACH-1)— ¥64.5




A AL ] e *
= x i = =3

& S| BEERDS B L & ERERFEERR
4 HRUBRERE —8KEBA
5 | RBEESETREE BETX B 17 #1 F|$#M5E4A838 o §M6E3IA3INH £T
E X X HYRFE AfL- B2 HE|BAFEALL
A B |$5F0 54 3H28R 1565005 5 FBAERHITIZOSE 1/ SEME
BT # BREHEMRENE kv & PNET 5}
¥ & O & @
(3 B Ml 45 1 L) ¥95

A #l 4 e
No. 2] = X =S % E Al £ 1 [ £ 2 [H £ 3 [= b e
1|77 TE () RUBRBEE — % ¥78
2| (BR) T4 RIBEZER RUBREESE — 8% F231]
3| EMhIL RUBRBEE — % ¥55
4 |FEiEKALER (4R) RUBRBEE — % ¥54
5 A1 FFERITE R RUBREE =8 ¥50 &AL
6 |(BR)RIFAIH* RUBRBRE — 8% ¥55
7B FNEL (KR RIBXIE RUBRERE — 8% ¥60
8 | (%R)OMC RUBREESE — 8% iR
9| (R)RKEEE BREREERM RUBEEE =% ¥55

10[FAKIU =TT (%)

RUBRBE &%

R




A AL ] e *
= x i = =3

& S| BEERG B L & ERERFEERR
£ A/ —ILEEA
5 | RBEESETREE BETX B 17 H [E|S#M5E4A38 Hhd SH6EIHASIR £T
E X X HYRFE AfL- B2 HE|BAFEALL
A B |5F0 54 3F28R 158510% 5 FBAERHITIZOSE 1/ SEME
#7 #  B|RIEIERRNE hvd 3 INEZ5E TS
¥ & O & @
(o ot i 50 b ) 120

A fL 4 e
No. 2] = X =S % E Al £ 1 [ £ 2 [H £ 3 [= b e
1|77 I (%) H /=)L TR
2{(BR) 7470 RIGEZERT A=)l R
3| EMhIL A5)—)L ¥105
4 | KALER (BR) AR)—)L ¥99
5 A1 FFERITE R AR /=)L ¥925 AL
6 |(BR)RIFAIH* A5)—)L ¥100
7B FNEL (KR RIBXIE A5)—)L ¥96
8 | (k) OMC ARJ—)L R
9| KEEE BREREXRM A5)—)L ¥110
10[FAKIU =TT (%) A5)—)L ¥95




A L ] R
= x i =

& S| BEERS B L I EELERBEEER
4 RKIERE MR (Fric) BA
& | RIGEmSRTREA RETX B 17 H [E|S#M5E4A38 Hhd SH6EIHASIR £T
E X X HYRFE AfL-BBHAEIELFEFALL
A B |5#0 54 3H 288 1585205 5 EERSHITEOSE 1B 2EMNE
#7 #  B|RIEIERRNE hvd 3 INEZ5E TS
¥ & O & @
(o B A 3 b ¥1.000

A fL 4
No. 5] = X [y £ pd E Al £ 1 [ £ 2 [ £ & e
1| 7HO7ITE ) KABRIEHER (Fi5) ¥990
2|(BR) 747 RBEEER iR
3| EMhIL KABRIEHER (Fi5) ¥980
4 |FEiEK AR (3%) KORIERE i (B ¥900
5 |44 FE DT (k) KERELL R (B8 ¥870 &AL
6 |(BR)RIFAIH* KABRIEHER (Fi5) ¥980
1| HAEI) RBXE KIBFE B (i) ¥1,000
8 | (k) OMC KRR FASE 1 B (B0 iR
9|(B HKEmE SREEM KALEFIE B (5 ) ¥1,000
10/(H) 5%ER KIBFE L (5t ¥1,200




A L ] R
=) E 3 i3 =

% S|BEER B L I EELERBEEER
& MPKLEREER (BER)EBA
5 | RBEESFERMEE RETX B 17 # [8|$H55E4A38 Ao $H6FEIA3IRA F£T
T X X HPDRAE AfL-BBHAEIELFEFALL
A Bf[$5%0 5% 3A28H 1585309 %5 EERSHITEOSE 1B 2EMNE
BT # BREEMENE kv 2 A| 2R
¥ E @ & O
(B E @ ) 800

A L &
No. 5] = X [y £ Ed 7 Al £ 1 [ £ 2 [ £ & e
1| 7OF7 Ik KBRS (R ¥890
2|74 RIBEZERT KILBRER (LR R
3| (BR)ERMTIAIL KRR () ¥900
4 |FEE KA (Bk) KRR () ¥700
5 (24X T (%) KIMERER (AR ¥670 AL
6| () RIFAHF KRR () ¥880
71BABELI (%) REBXE KRERE R (R ¥900
8 | (%R)OMC KREREER (R )
9| (KR KEREE BREEERN KILERER (BER) ¥900
10((F) B%kER KBRS (B ¥1,100




A # # 2 %
= E 3 1 = %
3 B|AEMEIS #H L B ERBHEMENER
£ MAEARTEREEEYREFEECEEBER
5 | BRmAARET B B 17 # [|$H55E4A38 Ao $H8EIASIRA T
T X R 2TOMmES AR -BHAEIEEREAL
=53 &0 54 38288 158505 T BAERHITEORE 1/ ZEMNE
MATHERS TS AR E BT S2H9ER TA-JN 2R
F EflitE ¥492,000(5>4 LfZ$ (a)
RIS HIRR{EHE U LIRE(b)

A #l & g2
No. AEXITEM F1E #2[E %3 L]
1| KREELY—ERM) REXE ¥780,000
2 |(A)Yoo—oEs ¥396,000
3 | (B) BB R
4 |BR)TAVY ¥360,000 EHL
5 |(F)EHEER R
6 [(B)ra— ¥840,000
7
8
9
10
11
12
13
14
15
16
17
18
19
20




A Al ## 2 =

k2 i3 = %
e B|sEAEE2S B & B FB|TRAEFEBERIM
% HAERTEREEEYREHLEEEEXBRT
15 ArFA B RERTARETILI B 1T # FR|SM5F4A38 o SFISHE3IAIA T
E X R 2|EOMES AR - F | ERRE AL
BEF SF 54F 38288 1685004 SR BEERHITIEOSE 1B 2ENE
ATHES RIBEE IR VAN MR
FE (4% ¥566,000| 54 LR (a)
IR HI R TS LR (b)

A #l #® ES

No. AEXITEM F1E #2[E #3MH L]
1| KREELY—ERM) REXE ¥840,000
2 |(A)Yoo—oEs ¥393,000 &L
3 | (B) BB R
4 |BR)TAVY ¥670,000
5 |(F)EHEER R
6 [(B)ra— ¥840,000
7
8
9
10
11
12
13
14
15
16
17
18
19
20




A Al ## 2 =

k2 E 3 i3 = %
e F|oEBEE125 B & B BBERESFTBRIREER
% | ERBEE LR T ARVEEEREREEER R
5 miEAERTEERITER B 1T # FR|$SM5F4A38 o HFI643A31A T
E X R 2|EOMES AR - F | ERRE AL
BEF SF 54F 38288 1685104 SR BEERHITIEOSE 1B 2ENE
ATHES RIBEE IR VAN MR
FE (4% ¥799,000| 54 LRk (a)
IR HI R TS LR (b)

A #l &

No. AEXITEM F1E #2[E %3 L]
1| KREELY—ERM) REXE ¥1,200,000
2 [(B)AMESRR-H—ER ¥700,000
3 |(#R)TAavy ¥507,000
4 | (%) = MEH BEREER ¥440,000 FEHL
5 [(B)Pra— ¥936,000
6
7
8
9
10
11
12
13
14
15
16
17
18
19
20




A AL & e *
= x i = =3

& =1V B LY B EBEIEEREIFER
% B EEBGERAR-RRVRATLERERES
5 Frim B ERmARETLIII B 1T # F[|Sf5E4818 o $F64E3A318 =T
T X X HTOMERE AfL- B2 HE|BAFEALL
B BF|45F0 54F 3A288 16852040 5 BEERGHTIEZORE 1 2EMNE
BT # BREHEMRENE hv2 & PNEZ ]2

A fL 4 7

AfLikE




5>
i
I

A #L & = x
S E 3 # = %

% =N B 4 I FBBRREHEREBEREER
£ | HMESEIVANRIRAEBRER
15 ArF R ARETILI B 1T # R|SM5F4A18 5 SF643A31A £T
T X X HTOMEE A#L- 8287 K| IERHEALL
=] B |4#0 54 3A288 16B¥30% 5 MBEERSHITIZORE 1B SEME
#ooT % B|RBENEMEZNE I £ A|ZwE
¥ E @ & O
(3B B MM A% b ) 45,125

A AL & ES
No. =] = X =S 2 Ed 7 Al g 1 @ g 2 [H £ 3 [ & 2
1| (B)FHIF AR LYNRRAREETR ¥39,800
2 | (&) W EENRIFT AL LYRRRAREETR ¥33,250 EHL
3[(B)BLES TR LNBIRARBER ¥46,000
4 | OhJENRI TR LUMRIEARBER ¥48,000
5 |AFENENRI TR LNBIRARBER ¥44,000
6| ZEBATHAVIE AR LYNRRAREETR 28
7
8
9




5>
i
I

A AL ] e *
=) E 3 i3 = %

& S5 E1S H oY I E(RENRHFWER
& W LHRALGHLEIES INRIRRERET
5 FrESRE™ B 17 H [E|S#M5E4A38 Hhd SH6EIHASIR £T
T X X HTOMERE AfL-BBHAEIELFEFALL
A B |$5F0 54 3H28R 1665405 5 FBAERHITIZOSE 1/ SEME
o7 # B[RS BRI RAE hvd 3 PNET 5}
¥ & O & @
(B Bt M 48 S HE) ¥44,000

A L 4 ES
No. 5] = X (=S £ pd E Al £ 1 [ £ 2 [ £ 3 [ & e
1| (B)FHEF ENRI S A 75 ¥39,800
2 | (&) EHRIFT ENRISYA 55 ¥33,300 AL
3[(B)BLES ENRI S A 75 ¥45,000
4|1>0ATER ENRIBIAZETS ¥45,000
5 |hEERENRI ENRIBIAZETS ¥42,000
6| BRATYIVIE ENRI A £ 75 #iR




A #l & ES *

= ES # %

E:3
5|5M FKEIS #H L 8 FREKEBLTKER

MRKEREERB R

§6 | N | BA

| BR™ O Z B 1T # [|Sf5E4818 o $H64E3A318 =T

o
W
X
3

ZDfhET ARl - BB ETERBRF AL

=] 4054 38288 16855049 BAT BERDITIZNOSE 1B ZEME

AT WHEBEM LR AN Lk

¥ 3 % ¥6,164,000|54"

E=AE I R 4% S5 LRH(b)

A #l & ES

No. BEEXIZET E=1E %2M@ E3E b

1 [#R)=E1% ¥6,150,000 &L

2 |(BA)FTHLSEE ¥6,500,000

3 | (B)A—52—TY/ ¥6,300,000

10

1

12

13

14

15

16

17

18

19

20




